S FY-430

IMPROVEMENT / SUPPLEMENTARY EXAMINATION, JANUARY - 2022

Part — 111 Time : 2 Hours
COMPUTER SCIENCE Cool-off time : 20 Minutes

Maximum : 60 Scores

/General Instructions to Candidates : \

There is a ‘Cool-off time’ of 20 minutes in addition to the writing time.

Use the ‘Cool-off time’ to get familiar with questions and to plan your answers.
Read questions carefully before answering.

Read the instructions carefully.

Calculations, figures and graphs should be shown in the answer sheet itself.
Malayalam version of the questions is also provided.

Give equations wherever necessary.

Electronic devices except non-programmable calculators are not allowed in the
Examination Hall.
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10.

11.

12.

13.

14.

15.

16.

Questions from (a) to (e) carries 1 score each. Answer any 3 questions. B x1=3)
(a) Who is known as ‘Father of Computer’ ?

(b) The process of correcting errors in program is called

(c) The data type does not require any memory space is

(d) In C++, the array index starts with

(¢) Name the built-in function to check whether a character is alphanumeric or not.
Questions from 2 to 21 carries 2 scores each. Answer any 11 questions. (11 x 2 =22)
Fill in the blanks :

(@ (___ )o=(11011),

(b)

(AC)16 =( )2

What are CPU Registers ? Give one example.

What is e-waste ? Name any one e-waste disposal method.

What is a language processor ?

What is utility software ? Give one example.

What is algorithm ?

What do you mean by internal documentation ?

Define the term ‘keyword’.

What are the fundamental datatypes in C++ ?

Write the names of any two entry controlled loops available in C++.

Write the initialization statement for an array with values 89, 75, 92, 65.

What is the use of NULL character in strings ?

Write any two stream functions for I/O operations in C++.

Write any four merits of modular programming.

What is the importance of main() function in C++ ?
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11.
12.

13.
14.
15.

16.

(a) 2)®™@3 (e) QAIHAWBB GaldBIEBUIAS 0] TVEHIA allmadem. ago®msslel)o
2MOANEMo A(@o DTMOOALL®)B>. Bx1=3)

(@)  ‘®muRgdled all®oal’ ag)m ¢aldl@d @RGIWeISAM@IO ?

(b)  cpWodloel QBB TIO)IMAM (IGHlVHW ag)am aflglesyam,.
(©) 02000 DaICWIUAENITD AWIQGIOOSa| @Rysm.
(d) C++@8, @co B @RYElBNANE @3 @RY&M.

(6) B0} RGO @RYTIANMYOAGID @YEIMI af)AN alBlcKIWlBPIM8s niladg-
ED3 aNoU)aHM Cal® M@3B)d>

2 )@@ 21 QIooWBS GaldBiIBWden 2 ¢Id allmayme. ogomsslen. 11
ag)qqgm1m' Q0o DOMONAYIM)>. (11 x2=22)
aflg)Eal0@® al@laflee)d :

(@ (___ )=(1011),

(b) (AC),,=(C__ ),

226 CPU 0&flquojaud ? 60} 230a006Mo M@ ).

gD-CAIQY a)INI@ o) ? aRO@BIENe B0) gN-caIqY MldndRm AGIeS cald
M @)

L1006UI 2 B(IOTVAVA af)aIMIMS af)a® ?

@)sleillgl croafgeaId af)aMO@ af)a® ? 60) BIaOEMo MTI)d.

af) M @RGICUNIBI®o ?

EDEAYEM@ GOSN YOACAFoHB af) IND@)ODHTE MIETBUD af)TNET GRA@OAIHNIN®) ?
‘@leaIaw’”’ ag)am alBo MIABQ)aflame ?

C++ 921 @RSI0om adgo HeSa|idUd aBO®E0o ?

C+ @3 218 20® E6ME af)M(S] VO LN JBB)OS CalD)HUB af) F)®)D .

89, 75, 92, 65 agyfl 2PIEBIBR B0) GREO WU IOOLICTVHD CIVGONZ
) ) ®)B>.

(Yo @&l@3 NULL 100016008 Dalc@000 af) 9@ ?
C+ @ I/O (n10180mMamuB9e00] a@o@@sleno @me (TYlo afoWaHM®HUB af))®)d.
C20W)LI08 C1UAloUIIO ABODESILN MILT NEMETBUB agf)$)®)D .

C++ el main() aDoUIaHOA (2 10UWIM Yo aRID) ?
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17. Distinguish between actual parameters and formal parameters.
18. Write any four advantages of Computer network.
19. Name any two services over internet.
20. Write any two limitations in the use of social media.
21. What is ‘quarantine’ ?
Questions from 22 to 41 carries 3 scores each. Answer any 10 questions. (10 x 3 =30)
22. Compare the features of any two generations of Computer.
23. What are universal gates in Boolean algebra ? Draw its symbols.

24. Draw the logical circuit for the Boolean expression.
X-Y+X-Y
25. Compare RAM and ROM.
26. What is operating system ? Give two examples.
27. Draw the flow chart for the following algorithm :
Step1 : Start
Step2 : InputA,B,C
Step3 : S=A+B+C
Step4 : Avg=S/3
Step5 : PrintS, Avg
Step6 : Stop
28. Distinguish between syntax error and logical error.
29. Write down the rules for naming identifiers.
30. Briefly discuss about the different types of statements in C++.
31. Write the basic structure of a C++ program.

32. What do you mean by cascading of I/o operators in C++ ?

33. Differentiate between ‘break’ and ‘continue’ statements in C++.
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17.

18.

19.

20.

21.

22.

23.

24.

25.

26.

27.

28.

29.

30.

31.

32.

33.

actual a10021190)&@)o formal a1002l1g0)ea8)0 ®elE3 caIB@ICHe)D.
HSHMIPSE OMQYAIBSHNOMG aBO@EILN0 MILT VIFMETBUD af) ) ).
DOMBONGIOL! aBO@EIEN0 B6NE CAVAIMEIBUBHE Eal® M@ .
LAY NIWABBBINS DalCRINAHIOE! A6NE alRIAIGBHUB agf) 3@
‘quarantine’ )O3 af)a® ?

22 ay®@3 41 QIOOWBR Gald3YEBWAES 3 ¢apId allmadem. ogo@slen. 10
af)INOTIN AO(@o DOMODAI®) > (10 x 3 =30)

aBO®EIEI AME GHMUYNSB GEIM0GB)OS TVANCUIHD U IR0 §a1Q)d.

mn)slon  erisignidien ©EMICIPT8 CNQBUWB aBOD®E0  ?  BROAIWOS
2lam6BUd AIEE)B:.

NSV af)o) IO CRIHBHEE TVADYG AIOI ).

X-Y+X-Y
RAM, ROM gnal @oo@ao 6a1Q))d.
6300 |coglow) VIA af)aMIET ? O6NE DBIOOEMEIBUD M@BD)D .

21)016S OHOS)ATNAE)AN BRGICVIAIGATIM GRMIEWIRINOW EaQO 21085 AUIOW)D :
Step1 : Start

Step2 : InputA,B,C

Step3 : S=A+B+C

Step4 : Avg=S/3

Step5 : PrintS, Avg

Step6 : Stop

syntax error, logical error gnal @a2l@3 GAIRGIGl L)
9af)WAFlaDWO}BHUBAE CalBISIAMNTIMBH WWAGTBUB af)9)®)D.
C++ or1 QIi® T ®O0 (ITVOAIMGUD ModHlg 000 2182 61210Q)).

C++ choJoLcno%)c@ @RSITLOIM ALISM af)QI@>.

C++ a1 o 60q]c0g@20600 H0aVEHWlow) SalgaN@Ienes alenud af)amoem’
@RAGOAIBNM@) ?

C++ oe1 ‘break’, ‘continue’ cquaead)du3 ®anil@d caId@IClHe)D .
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34. Rewrite the below mentioned C++ statement using if ......... else .........
K=(a>b)?a—-b:b-a;

35. Write a short note on traversal operations in array.
36. Write algorithm for selection sorting.

37. Write the use of the following pre-defined or built-in functions in C++.

(a)  strepy()
(b)  pow()
(c) isupper()

38. Briefly explain about the different methods of calling user defined functions in C++.
39. Distinguish between Router and Gateway.
40. Compare any three LAN topologies.

41. What is an e-mail ? Describe structure of an e-mail with suitable example.

Questions from 42 to 44 carries 5 scores each. Answer any 1 question. 1x5=)5)
42. (a) Define the term ‘bit’ ?

(b) ASCII stands for .

(c) Represent (-38),, in 2's complement form.

43. (a) Write the syntax of ‘for’ statement used in C++.
(b) Consider the following if else if statement. Rewrite it with switch statement.
if (a==1)
cout K “One”;
else if (a==0)
cout K “Zero”;
else

cout K “Not a binary digit”;

44. Write a short note about the following :
(a) Bandwidth

(b) MAC
(c) Switch
(d) Modem
(e) 1P
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35.
36.
37.

38.

39.
40.
41.

42.

43.

44,

if . else ......... 9al1cOWla] aaIes M)allafla] C+ caugeasad aflene)o
af)9)®)).

K=(@a>b)?a-b:b-a;

@REOWIeE! (SO6AIBTVE3 (»IAIBTMMEBOS db)Gla] 60) HalGlQ d)0la| ag) 9@ .

OAVLIGHI CTLIAZUWIMIW] BR@IEUNIBIBIo agf) ).

@069 M@HDBleo)m C+ eel (@l-aflosancdw’ @oeeisloed  micdg-gnad
aNoNaHM)BHB)OS DalGLIN0 af)9IE))d.

(@)  strepy()

(b)  pow()

(c) isupper()

C+ @3 @8 AUleHanMBAW afoWaMBUB allglan)M@ImEes ali®iTy Aolees
D)0laf TVodMlg 1200 QlaIGl 9.

0)50)0 ENQEAIWo @2@3 CAIAGHI B9 .
aBe®sslenoe AN LAN ¢S0Ga 0gedldud @o0ma o 6101091

af)a®IEM’ B0} D-HAWVI@3 ? ERMEWIRIAIW DBIAOEMEBNINS 630) tD-oawfleilond
apIsM QflQIGlEe)0.

42 a)®a3 44 01OOWBS  GaldBIEIBWRAY 5 c¢mod allomae ogoosleno
SOOANOTIM DOMOHAY)®)db. 1 x5=5)
(@) ‘bit” ag)am alBo M1BQ)a o) ?

(b) ASCII @9S al)@smo)alo af) 9)®).

(©)  (=38);p )M Moy 2's CHI0q 102603 Can0BROGIE3 CORIN|S)OD .

(@) Ct++oel ‘for’ eqrugonadlong QG PLISM af)9)@)D .
(b) aula] caugeaed DalcIWla] @®0¢ OBIS)THIGINAM  (ITVIAIM B0l
af) )M,
if (a==1)
cout K “One”;
else if (a==0)
cout K “Zero”;
else
cout K “Not a binary digit”;

eDMa |0 AIOQEN)Tlaf B0} 2101 B)Ola] af) YD :
(a) Bandwidth

(b) MAC
(c) Switch
(d) Modem
(e) 1P
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